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Bridge too far: On the bridge collapse in Vadodara
A regular audit of all major infrastructure projects is a must

On July 9, 2025, a span of a 40-year-old bridge in Vadodara in Gujarat caved in, sending half-a-dozen
vehicles into the Mahisagar river below. On Thursday (July 10, 2025), 18 people were confirmed dead.
Chief Minister Bhupendra Patel has ordered an investigation into the cause, which locals have alleged
to be the long-standing neglect by local authorities. On June 15, 2025, an iron pedestrian bridge over
the Indrayani river in Pune district collapsed due to overloading, leaving four dead. In May, a concrete
slab being hoisted by a crane at the site of the construction of a bridge over the Kathajodi river in
Cuttack fell on workers below, killing three. Similarly, in 2024, the Ghatkopar hoarding collapse in
Mumbai resulted in 17 fatalities. And in 2023, there were more accidents — a girder failure at an
under-construction railway bridge in Mizoram left 26 workers dead; a rooftop billboard collapse killed
two women in Lucknow; and a pillar collapse at a metro construction site in Bengaluru killed a mother
and her toddler. In 2022, the Morbi suspension bridge over the Machchhu river, again in Gujarat,
failed, killing more than 140 people. These are only some of the hundreds of incidents involving the
catastrophic failure of public infrastructure. They are accompanied by road accidents and deadly fires
in crowded areas, both of which regularly claim many lives.

Even if they are isolated, they are not entirely accidental: they are symptoms of India’s ageing
infrastructure that is being tested, especially in peri-urban areas, as industrial growth and urban
populations expand. Facilities such as bridges, roads and hospitals that were designed for some
number of users, are progressively giving way under the weight of more. So also are the departments
responsible for their upkeep, many of which remain underfunded, understaffed or complacent. While
the authorities have ordered investigations into these incidents, few have yielded failure analysis
reports into the public domain. Some also prompted audits but they were restricted to infrastructure
of the same type. Given the evident ubiquity of the problem, India must modify asset-creating
initiatives such as the Urban Infrastructure Development Fund to have additional priorities and adjust
the incentives of rehabilitative schemes such as the Atal Mission for Rejuvenation and Urban
Transformation to help regularly maintain ageing urban assets in all centres, with greater frequency in
those peopled by 10 lakh or more. Second, while baseline audit frameworks for municipal bridges
exist, they must be enforced more uniformly and transparently. Finally, until then, accidents must
trigger a probe by a statutory body plus a mandatory audit of all major infrastructure, and States

must endeavour to publish the findings at the earliest. |[Practice Exercise]\

e Red/blue coloring of words in the sentence indicates subject verb relationship; where ‘red’
denotes ‘subject’ and ‘blue’ denotes ‘verb’.
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10.

11.

Vocabulary
12.

A bridge too far (phrase) — overreach,
excessive risk, overambitious move,
unrealistic attempt, unfeasible step

3TSATIETR T IHHT 9T

Collapse (noun) — breakdown, fall, crash,
failure, disintegration &g SITaIT

Audit (noun) — inspection, review,
assessment, examination, evaluation oa@r
ST

Infrastructure (noun) — facilities,
framework, foundation, public systems,

base W/Wﬁqﬁﬂﬁm

Must (noun) — necessity, requirement,
obligation, essential, imperative Jifearddr

Span (noun) —an arch or part of a bridge

between piers or supports. T&&dT

Cave in (phrasal verb) — collapse, fall in,

give way, break down, crumple g SIToIT

Cause (noun) — reason, source, origin,
basis, grounds shI{UT

Alleged (adjective) — claimed, supposed,
suspected, reported, stated AT

Long-standing (adjective) — enduring,
chronic, persistent, long-term, extended

oS HHAT I Tl 3T &7

Neglect (noun) — disregard, inattention,

carelessness, omission, oversight 3981

13.

14.

15.

16.

17.

18.

19.

20.

21

22.

Pedestrian (adjective) — for walkers,

walking-related, footpath-related deor
Tolel aTell J T

Concrete (adjective) — cement-based, solid,

hardened, material-specificaﬁ

Slab (noun) —flat piece, block, panel, plate,

sheet Told

Hoist (verb) — lift, raise, elevate, heave,
haul 39T 33[T

Hoarding (noun) — billboard, poster board,
display board, advertisement panel

EEIEGEF

Result in (phrasal verb) — cause, lead to,

bring about, give rise to IRUTTHEIRYT gIAT

Fatality (noun) — death, casualty, demise,
loss of life HcT
[}

Girder (noun) — beam, support, joist,

framework, truss e A

Toddler (noun) — young child, baby, infant,
little one BICT szl

. Catastrophic (adjective) — disastrous,

devastating, ruinous, tragic, calamitous

IEGIMER

Accompany (verb) — go with, come with,
attend, coincide with, follow T glAT
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23.

24,

25.

26.

27.

28.

29.

30.

31.

32.

33.

Crowded (adjective) — packed, congested,
full, jammed, overpopulated 31S-81T8 aTelT

Claim (verb) — take, cause death, assert,
demand, result in FﬁH?JTEIi?I hl hILUT

Sololl

Isolated (adjective) — single, occasional,
rare, sporadic, infrequent 3TeldT / 37chell

Entirely (adverb) — completely, totally,
fully, wholly, altogether T3 eRE

Ageing (adjective) — old, deteriorating,

weakening, declining, maturing a@glal
g3T / IeAT
S P

Peri-urban (adjective) — surrounding urban

areas, urban fringe, semi-urban ngil
HAT &
Upkeep (noun) — maintenance, care,

preservation, servicing, repair TEIWTd

Complacent (adjective) — self-satisfied,
indifferent, negligent, unconcerned, lazy

ICHHISE / ATIRATg

Yield (verb) — produce, result in, lead to,

generate, give rise to EHT/Q'ﬁ'UTI?qu
grelr

Domain (noun) —field, area, sector, realm,

territory &aT

Prompt (verb) — cause, trigger, provoke,

initiate, lead to IR LT / HRUT Tofedl

34.

35.

36.

37.

38.

39.

40.

41.

42.

43.

44,

Given (preposition) — considering, in view

of, based on Eﬁfé‘@ﬁg’(’

Evident (adjective) — clear, obvious,

apparent, visible, noticeable IS

Ubiquity (noun) — omnipresence,
commonness, prevalence, pervasiveness,

universality gJcITIehdT

Rehabilitative (adjective) — restorative,
reformative, recuperative, healing

JAd T gTcH S

9

Rejuvenation (noun) — revival, renewal,
regeneration, restoration, revitalization

qoo—'l Sl

Baseline (noun) — standard, starting point,
foundation, benchmark 31T8TR 3@T /

IR A AleTh
Enforce (verb) —implement, apply, impose,
execute, uphold olTd] T

Trigger (verb) — start, initiate, spark, cause,
provoke QFE!FI[

Probe (noun) — investigation, inquiry,

examination, inspection, scrutiny SITd

Statutory (adjective) — legal, legislated,
mandated, regulated, lawful CRIGED

Endeavour (noun) — effort, attempt, try,
undertaking, venture IITH
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45. Finding (noun) — result, outcome, 46. At the earliest (phrase) — as soon as
conclusion, discovery, determination possible, without delay, quickly Z2efrer /
IGLE o.
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Summary of the Editorial

1. Tragic Incident: OnJuly 9, 2025, a 40-year-old bridge in Vadodara, Gujarat collapsed,
causing 18 deaths after vehicles fell into the Mahisagar river.

2. Official Response: Gujarat Chief Minister Bhupendra Patel has ordered an investigation,
amid allegations of neglect by local authorities.

3. Pattern of Failures: Recent months have seen multiple infrastructure collapses — in Pune,
Cuttack, and Mumbai, each resulting in fatalities.

4. Previous Incidents: Earlier tragedies include collapses in Mizoram (2023), Lucknow (2023),
Bengaluru (2023), and Morbi, Gujarat (2022), which alone killed over 140.

5. Recurring Disasters: These events reflect a wider crisis in public infrastructure, with road
accidents and fires also being common and deadly.

6. Root Cause: The ageing infrastructure across India, especially in peri-urban areas, is being
overburdened by rapid urbanisation and industrial growth.

7. Underprepared Systems: Many bridges, roads, and facilities were not designed to handle
current levels of usage, leading to increased stress and failures.

8. Administrative Gaps: Departments responsible for maintenance are often underfunded,
understaffed, or complacent, contributing to the neglect.

9. Lack of Transparency: Despite investigations being ordered, failure analysis reports are
rarely made public, hindering accountability.

10. Limited Audits: Post-incident audits are often narrow in scope, targeting only the specific
infrastructure type involved in the accident.

11. Policy Adjustment Needed: The Urban Infrastructure Development Fund (UIDF) must be
reoriented to prioritize maintenance and safety of older structures.

12. Mission AMRUT: Schemes like the Atal Mission for Rejuvenation and Urban Transformation
should focus more on rehabilitating ageing infrastructure.

13. Focus on Large Urban Centres: Areas with populations of 10 lakh+ should have more
frequent maintenance cycles due to higher stress on infrastructure.

14. Audit Frameworks Exist: Municipal bridge audit guidelines already exist but are poorly
enforced and lack transparency.

15. Call to Action: Each major accident must lead to a mandatory audit and a statutory
investigation, with findings published quickly to prevent recurrence.
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Practice Exercise: SSC Pattern Based
1. What is the tone of the passage? |[Editoria| page]‘

A. Optimistic and celebratory
B. Critical and concerned
C. Humorous and satirical
D. Indifferent and neutral
2. What is the main theme of the passage?
A. The economic growth of urban India
B. The need for better maintenance and auditing of public infrastructure
C. The history of bridge construction in India
D. The role of local communities in infrastructure development
3. What is identified as a primary cause behind the repeated infrastructure failures across
Indian cities, as per the passage?
A. Natural disasters due to climate change
B. Ageing infrastructure combined with poor maintenance
C. Lack of technological advancement in construction
D. Corruption in local political bodies
4. Why does the editorial recommend changes to schemes like the Urban Infrastructure
Development Fund and AMRUT?
A. To expand funding for smart city digital projects
B. To promote privatization of infrastructure management
C. To focus more on regular maintenance and rehabilitation of ageing assets
D. To divert resources to rural areas from urban centres
5. What can be inferred about the current system of infrastructure audits in India?
A. ltis applied selectively and lacks transparency in implementation
B. Itis robust and ensures nationwide safety through preventive checks
C. Itis primarily dependent on foreign expertise for execution
D. It operates efficiently through private contractors
6. Select the INCORRECTLY spelt word
A. Mediterranean
B. Peculliar
C. Miscellaneous
D. Parallel
7. Select the most appropriate ANTONYM of the given word.
Hollow
A. Crafty
B. Arched
C. Worthwhile
D. Spurious
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8.

10.

11.

12.

13.

14.

Parts of the following sentence have been given as options. Select the option that contains
an error.

My son, who is a cricketer too, is a M.A. from Delhi University.

A. isa M.A.

B. from Delhi University

C. myson, whois

D. acricketer too

Select the option that can be used as a one-word substitute for the given group of words.
A person who eats too much

A. Glutton

B. Fatalist

C. Misogamist

D. Sycophant

Select the most appropriate option to fill in the blank.

Personally, Ramesh was to his villagers than his elder brother.

A. more helpful

B. helped

C. helpfuller

D. most helpful

Select the most appropriate option to fill in the blank.

As technology evolves, consumers increasingly products with enhanced

features and greater efficiency.

A. demand

B. has demanded

C. were demanding

D. might demand

Select the most appropriate meaning of the given idiom.

Knuckle down

A. To engage in street fighting

B. To crush someone to the extent that they cannot get up

C. To start working or studying hard

D. To make others do their share of hard work using power

Select the INCORRECTLY spelt word

A. Until

B. Vacuum

C. Separate

D. Weired

Select the most appropriate idiom that can substitute the underlined segment in the given
sentence.

The comedian's jokes were so funny that the audience was laughing uncontrollably.
A. in stitches
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B. on the ball
C. aseasy as pie
D. in bits and pieces
15. Select the most appropriate meaning of the underlined word in the given sentence.
Exclusion of someone from a common group harms the human society
A. Admission
B. Inclination
C. Submission
D. Prohibition
16. Select the most appropriate meaning of the given idiom.
The gift of the gab
A. Life full of quarrels
B. The ability to speak easily and confidently
C. Just at the last moment
D. Impossible
17. The given sentence is divided into four segments. Select the option that has the segment
with a grammatical error.
She forbade / him not / to enter that / room.

A. room.
B. to enterthat
C. him not

D. she forbade
18. The following sentence has been split into four parts. Identify the part that contains a
grammatical error.
Jack probably/ strained his back/ as the box was/ too heavier
A. Jack probably
B. strained his back
C. too heavier.
D. asthe box was
19. Select the option that can be used as a one-word substitute for the underlined group of
words.
Because the politician's speech was high-flown and pretentious, it gained popularity.

A. schematising

B. bombastic
C. mnemonic
D. austere

20. Select the most appropriate meaning of the underlined word.
There are so many flies on the food.
A. Various types of bacteria
B. To hover up in the sky
C. To move from one place to another
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21

22.

23

24,

25.

D. Insects with wings

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The standard of living of any country means the average (1) share of the goods and
services which the country produces. A country’s standard of living, therefore, (2)

first and foremost on its capacity to produce wealth. ‘Wealth’, in this sense, is not money, for
we do not live (3) money but on things that money (4) buy; ‘goods’ such as
food and clothing and ‘services’ such as transport and entertainment. A country’s capacity to
produce wealth depends upon many factors, most of which have an effect on one another.
Wealth depends to a great extent (5) a country’s natural resources, such as coal, gold
and other minerals, water supply and so on.

. Select the most appropriate option to fill in blank no. 1.

A. person’s

B. person

C. persons’

D. person

Select the most appropriate option to fill in blank no. 2.
A. depends

B. dependent

C. depended

D. depending

. Select the most appropriate option to fill in blank no. 3

A. on

B. into

C. by

D. In

Select the most appropriate option to fill in blank no. 4.
A. ought

B. must

C. should

D. can

Select the most appropriate option to fill in blank no. 5.
A. upon

B. over
C. with
D. in

Join us on Telegram channel: English Madhyam, Email Id: Support@englishmadhyam.in
Website: www.englishmadhyam.info, Phone number: 7722987077 Page 9




IV wawlopl JOIN TELEGRAM CHANNEL: ENGLISH MADHYAM

Answers

1. B 2.B 3.B 4.C 5,A 6.B 7.C 8.A 9.A 10.A 11.A

12. C 13.b 14A 15D 16B 17.C 18C 19B 20.D 21.A 22A

23. A 24D 25.A [Practice Exercise]
Explanations

1. B) Critical and concerned
The passage highlights repeated infrastructure failures, negligence by authorities, and lack of
proper maintenance, reflecting a critical stance.
The concern is evident in the call for systemic reforms, audits, and better governance to
prevent future tragedies.
A) Incorrect, as the passage does not praise any progress but rather points out failures.
C) Incorrect, as the tone is serious, not mocking.
D) Incorrect, as the author expresses clear concern and criticism rather than neutrality.

2. B) The need for better maintenance and auditing of public infrastructure
The passage discusses multiple infrastructure collapses due to neglect, poor maintenance, and
lack of audits, emphasizing the need for systemic reforms and stricter enforcement of safety
measures.
A) Incorrect, as the focus is on infrastructure failures, not economic progress.
C) Incorrect, as the passage is not a historical account but a critique of current issues.
D) Incorrect, as the passage blames authorities, not communities, for negligence.

3. B) Ageing infrastructure combined with poor maintenance
The passage clearly states that many of these incidents are “symptoms of India’s ageing
infrastructure” and poor upkeep by departments that are “underfunded, understaffed or
complacent.”
A. Incorrect — The passage doesn’t mention natural disasters or climate-related causes.
C. Incorrect — While technology isn’t discussed in depth, the issue highlighted is more about
maintenance and overload, not lack of technology.
D. Incorrect — The term “neglect” is used, but corruption isn't mentioned as a specific or
primary reason.

4. C)To focus more on regular maintenance and rehabilitation of ageing assets
The passage says India must “modify asset-creating initiatives” and “adjust the incentives of
rehabilitative schemes... to help regularly maintain ageing urban assets,” especially in areas
with larger populations.
A. Incorrect — No mention is made of smart city digital technology.
B. Incorrect — The passage does not discuss privatization.
D. Incorrect — The focus remains on urban (not rural) centres, especially those with 10 lakh+
population.

5. A) ltis applied selectively and lacks transparency in implementation
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10.

The passage criticizes that while audit frameworks exist, they are not enforced uniformly or
transparently. Many investigations do not yield public reports, and audits are often restricted
to one type of infrastructure.

B. Incorrect — The opposite is implied: lack of uniform enforcement and transparency.

C. Incorrect — There is no mention of foreign expertise being used.

D. Incorrect — Private contractors are not discussed as part of the audit system in the passage.

B) The incorrect spelling in the given options is "Peculliar’, and the correct spelling is
"Peculiar", which means "strange or unusual" (37S1d, 3T HTHTY).
C) Hollow (adjective): Having a space or empty inside; lacking real value or meaning. Qe,
eI & @relt
ANTONYM: Worthwhile (adjective) — Having value, importance, or meaning; worthy of time
and effort. Q:IT%, HeddleT

e Crafty (adjective): Clever in a deceitful or manipulative way. dTell<h, ﬂ;{-‘f

e Arched (adjective): Curved in shape, like an arch. HAEEER

e Spurious (adjective): False or fake; not genuine. Thell, glorl
A)is a M.A” H 'a M.A.' & TITT T 'an M.A.' ST use BI9TT FIifeh 'M.A.' &I Tgel I TgelT 316R
'M' ST 3TIROT TAX (T T &afed) T g & | 37, TAX &dTel o Ugel 'a’ T Fo1T 'an' T TIN9T
forar STar 81

In the phrase 'is a M.A.,' 'a M.A." should be replaced with 'an M.A.' because the pronunciation
of 'M' begins with a vowel sound (‘em'), and before a vowel sound, we use 'an' instead of 'a.'

A) Glutton (noun) — A person who eats too much. ﬁ?\

e Fatalist (noun) — A person who believes that all events are predetermined and inevitable.

HIIZATET

e Misogamist (noun) — A person who hates marriage. ﬁaﬁﬁayrraﬂﬁw

e Sycophant (noun) — A person who flatters someone important to gain favor. 9ol
A) ‘More helpful' T use Ter %‘ Fifh IFT H e iFdar (Ramesh IR 3T &3 341':;’) $r
Jefell Fr ST BT %’I Comparative degree (more helpful) el 39TaT Jefell & ToIT TR SArar %I
'Helped' (T@TIAT hI) @I T8l § FAifh TE verb §, STafdh TGT adjective T TITHT ¢l
'Helpfuller' 3T T¥I TgTIS ITdd g FAiTeh Tg U ITold 2MeE &; comparative degree Sallel o
TIT "more" T 39ATIT @HT %I 'Most helpful' parspay Heldeh superlative degree %’, S I use
BIC & STel clleT AT 3771k ohY Tl I SITcH &, olfehat AT sharel al T Jolell &1 TET ¢ |
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11.

12.

13.

14.
15.

'More helpful' is correct because the sentence is comparing two individuals (Ramesh and his
elder brother). The comparative degree (‘'more helpful') is used for such comparisons. 'Helped'
is incorrect as it is a verb, but an adjective is required here. 'Helpfuller' is incorrect because it is
not a valid word; "more" is used to form the comparative degree. 'Most helpful' is incorrect as
it is the superlative degree used for comparisons among three or more, but here only two are
being compared.

A) Demand' &l use Tl § Fifeh Ig T AT T (general truth) 3R aidART 3Ed
(present habit) FI eTFd AT a', Sgs aamr =T a' for ST-IT deie Aefad ?l?ﬁ %’,
3THFAT Q%FR' {[ﬁ?ﬂ&ﬁ 3T 310 FRITATT arer 3caret Y AT A ?fl 'Has demanded'
W%}?ﬂffﬁ?% JAHTT e & T Hﬁﬁﬁ@g‘é% (completed action in the past)
P TFT HLAT & | 'Were demanding' ITTd § FAiTeh T 3Tdid & SIRT IfhaAT (past continuous
action) T IFd AT g, ST JgT UTH T3 oTgT & 1'Might demand' 3TeTd § Fifeh Jg THTSIAT

(possibility) @Y STeFd SdT g, STeTeh AT Teh THTCY T ol eeFd hidT g |

Demand' is correct because it expresses a general truth or present habit, indicating that as
technology evolves, consumers seek products with better features and efficiency.

'Has demanded' is incorrect because it refers to a completed action in the past, which does not
align with the ongoing trend described. 'Were demanding' is incorrect as it denotes a past
continuous action, which is irrelevant here. 'Might demand' is incorrect because it implies
possibility rather than a general truth.

C) Knuckle down (idiom) — To begin to work or study seriously and with determination €dTeT

oA 3R AGTcT & 1A Y& HIeAT IT TGS el

D) The correct spelling of ‘Weired’ is ‘Weird’, which means “strange or unusual” 3Talld,
JATAT |
A) In stitches — (Idiom) — Laughing uncontrollably Gﬂ'{'Gl’R"\qm

D) Exclusion (noun) — The act of keeping out or removing someone or something from a group

[d o
or place. 39dald, dTgX TedchlelaT|

Synonym: Prohibition -The act of forbidding or banning something. U |
e Admission — This is the correct answer because it is the direct antonym of exclusion
gaer
e Inclination — A natural tendency or preference towards something.

e Submission- The act of yielding or surrendering to authority. TcHATHYT|
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16.

17.

18.

19.

20.

21.

B) The gift of the gab (idiom) — The ability to speak easily and confidently (ﬁﬁiﬂﬁﬁ IR
HTcATIRATHYAeh dlelet T &THT)

C) “him not" H 'not' T YATIT ITeld &1 IS 'forbade' (past tense of 'forbid') ST 3TN fohaT
SATAT &, Y ST AT 'not’ T TANIT 8T 81T & FAITH 'forbade’ H ASPRIcHS 31 gt & AfgT
@HT%'I Hd: WWE’I’W "She forbade him to enter that room."

"Him not" is incorrect because when the verb "forbade" is used, it inherently carries a negative

meaning. Therefore, adding "not" is redundant and grammatically incorrect. The correct
structure should be:

Q) TET sentence H 'too heavier' &T use T 3T § ST IT0Td %’I 'too' Tdh intensifier %", EaCa
MY adjective T positive degree (3\1}! 'heavy') 3-1'IT-|T%I Comparative degree (‘heavier') T TITaT
'too' o T =gl TohdT SITdT|

The phrase 'too heavier' is incorrect because 'too' is an intensifier that must be followed by the
positive degree of an adjective, such as 'heavy.' A comparative degree like 'heavier' cannot be
used with 'too.'

B) Bombastic (adjective) — High-flown and pretentious language used to impress people.

3TSSRYTT HI9T
e Schematising (noun) — The act of forming a plan or scheme. YT FATAT

e Mnemonic (noun) — A device or pattern of letters, ideas, or associations that assists in
remembering something. THIUT-HgIdh

e Austere (adjective) — Severe or strict in manner, attitude, or appearance. Hreaiqot

o

D) “flies’ T 379 ‘insects with wings’ B9 FIifh Ig aTarg HioTel UX 3UTEAT BIC U@T aTel hisr
FTHSH AT 2| ‘flies’ T noun & ST ISt ST 3 SART FATE |

‘flies” will mean ‘insects with wings’ because the sentence refers to small winged insects
present on the food. Other options cannot be correct because: ‘flies’ is a noun referring to
insects, and there is no context of its verb usage here.

'A) Person’s T use el 8191 FiTeh sentence & "average person’s share" <l areay tes 3itaa
gfed & T8 O &1 I8 3R (possessive singular) T eFFd AT &, 3R sentence % Teal
# g FET ¢ Flfeh AT bl HTH AN TR Teh e o IMUR 9 AT ST | 'Persons” (plural
possessive) ol use W%ﬁ%uﬁ"@ﬁ%%%@" ﬁmﬁ@%ﬂ o o gafr
gfFaar & & FIl 'Person’ singular ITdd & FiTh T TSR (possessive) T cTFT Aal
hdT| 'Per son' Wﬁ@ﬁ%ﬁwmgl
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22

23.

24.

Person’s' is correct because the sentence refers to the average share of goods and services per
individual in the country. The singular possessive is appropriate as it measures the standard of
living based on the share attributed to a single person. 'Persons’' (plural possessive) is incorrect
because it implies the collective share, which is not the focus of the sentence. 'Person'
(singular) is incorrect as it does not convey possession. 'Per son' is grammatically and
contextually irrelevant.

.A) ZIETU "depends" bl use Tar %} FIifeh aTar g present tense P2} %’ IR A country’s standard of

living" third-person singular a'l g dikd Ueh AT Hcd (general truth) EI#TEQI‘[ET%’, s;ﬁ%n:r
TIHATST Tl T ST AT AT %Im option dTeld %" FiTeh: "dependent"” TUeh adjective %’,
3R TET verb &1 3TTTHAT & | "depended” past tense T T g, ST T o IdHTT FedT J AT
el WIdT| "depending" present participle &, [o g 39T I @ 1 a7 [9AvuT & FT H
BIaT &, oIfeheT TGT main verb Sl 3TATShaT ¢ |

The word "depends" is grammatically correct here because the sentence is in the present

tense, and "depends" is the third-person singular form of the verb, which matches the subject
"A country’s standard of living." The sentence is explaining a general truth, which is why the
present tense is used. The other options are incorrect because: "dependent" is an adjective,
not a verb, and does not fit in the blank where a verb is required. "depended" is the past tense
form, which does not align with the general truth or present context of the sentence.
"depending" is the present participle, which is used to show ongoing action or as a modifier,
not as the main verb here.

A) On' T use TET BT FAiTh Tg TGl preposition § ST 1T "live on" (FRIT T T IGEES
AT IT Se) ﬁéﬁ?ﬁ%l g sentence #H mention %%sﬂﬂﬁwaﬁmaﬁmfﬁa’rw
ST 4E & @IS ST AFRAT B 1 'Into’ (& HIAR), 'By' (GaRT), 3R 'In' () FT 3T Hedl H Fig 3T
Tel SoTdT Faifeh o "fSar a1 " & TEY preposition & T H Ter e & |

'On' is correct because it is the appropriate preposition used with "live on," which means to
depend or sustain life on something. The sentence mentions that we do not live on money but

on the things money can buy. 'Into' (inside), 'By' (through), and 'In' (inside) are irrelevant in this
context as they do not convey the idea of dependency appropriately.

D) Can' &T use TET &I T Teh TG &THAT AT THTIT bl TFd T &1 sentence H mention &
T AT 37 aE3i 3R Fansit @ @lieed # Fatd § T9ieT W Shiaet 3menmia 81 $HfT, 'can’
WQEW%I 'Ought’ (TTTET) FT use Afae a1RicT AT ey Tad FLa & T glarg, s
9 Aty H e 18T g1l 'Must' (ST&R) TTAaRIAT AT STeTdT seFd T g, Sif 39 e &
ag?fﬂ»‘é’l?%l 'Should' (TTTET) HeTE AT GHTA I SFeFcl I 8, ST TST 3UGercl o761 ¢ |
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25.

Can' is correct because it expresses the ability or possibility. The sentence explains that money
is capable of buying goods and services, aligning perfectly with the context. 'Ought' indicates
moral obligation, which does not fit the context here. 'Must' implies necessity, which is too
strong for this context. 'Should' denotes advisability, which is not appropriate for expressing
factual capability.

A) 'Upon' T use TET & FIifah T preposition 3T TR AT fFIRAT &Y gATAT & o W F
3Rl giem 81 T@T sentence F =T I 3cUIGe &THAT 3R 38 Yrehfcleh HATEET & el
fTORAT Fr araT @Y W &1 'Upon' TET T H 3T T I Fd AT & 'Over' T use WIT: TG
W gl T SR I AT & fore fovam Sirar &, St 7T 3 Teed F T@y A8 &1 'With' T 3TeT
ATEET AT AT Sl SGefel it & TIT BIAT &, S ATehicieh HHTLAT 9T SRET bl e let &
foIT 3ugera 78T 81 'In' TTe AT FEATY T g=ife o foIw 3uher gieT B, wifshet Tl AeRar &
T H g TSI el o |

'Upon' is correct because it is a preposition that denotes dependency or basis for something.

In this sentence, the relationship between a country's production capacity and its natural
resources is being discussed. 'Upon' accurately conveys this dependency. 'Over' is typically
used to indicate position above or across something, which does not fit the context here.
'With' is used to indicate accompaniment or means, which does not suit expressing
dependency on natural resources In' is used to denote location or position, but it does not
correctly express the dependency in this context.
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